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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Animal husbandry is the branch of agriculture ------ceeeee-- -- with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

2- Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.
1) violent 2) distant 3) temporary 4) pointless
3-  Animal rights is not just a philosophy—it is a social movement that --—
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

4-  If people can raise enough fish on farms, it stands to -——------eeeeeeee that they will be
less inclined to hunt them from the sea.
1) logic 2) rationality 3) reason 4) attention

5-  The programmer ---—----eeeeee an analogy between the human brain and the
computer.
1) drew 2) bore 3) took 4) put

6- The -----—=--eaee=— of the editor’s comments made us think that he hadn’t really read
the manuscript.
1) intensity 2) ignorance 3) tolerance 4) superficiality

7-  The two boys tried to sound ~—--—=-eeeeeeee at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.
1) resistant 2) impatient 3) regretful 4) indifferent

8-  Though he spoke for over an hour, the lecturer was completely ------ and the
students had no idea what he was talking about.
1) solitary 2) inarticulate 3) curious 4) effortless

9-  For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —--- - in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeeeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ==-=-smeeeemaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ==-semememeaeean incidence of conditions that become
increasingly common in old age. (13) ---=--eeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-=--s=menmn-
that the maximum life span (the oldest attainable age). (15) --=-=--=-=n==--- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

| PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In the religious works of Sunni scholars. as well as in the controversies that have been
recorded as taking place between different schools, one often observes that if a
particular point of doctrine is opposed to the outward meaning of a verse of the Quran,
that verse is interpreted by ta'wil to have a meaning contrary to its apparent meaning.
Sometimes two contending sides support two opposing views and present Quranic
verses in proof of their contentions. Each side interprets the verses presented by the
other side through ta'wil.

Yet, sufficient deliberation upon Quranic verses and the Hadith of the Household of
the Prophet demonstrates clearly that the Holy Quran with its attractive language and
eloquent and lucid expressions never uses enigmatic or puzzling methods of exposition
and always expounds any subject in a language suitable for that subject. What has
been rightly called ta'wil. or hermeneutic interpretation, of the Holy Quran is not
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16-

17-

18-

19-

20-

concerned simply with the denotation of words. Rather, it is concerned with certain
truths and realities that transcend the comprehension of the common run of men: yet it
is from these truths and realities that the principles of doctrine and the practical
injunctions of the Quran issue forth.

The whole of the Quran possesses the sense of ta'wil, of esoteric meaning, which
cannot be comprehended directly through human thought alone. Only the prophets and
the pure among the saints of God who are free from the dross of human imperfection
can contemplate these meanings while living on the present plane of existence.

The best title for this passage is ~-=-==s=meemm- .

1) The Outward Meaning of the Quran

2) Ta'wil in the Religious Works of Sunni

3) The Principles of Interpretation of the Quran

4) Different Schools and Different Theological works

"Ta'wil", according to the passage, i§ —=-==s=scemeees,

1) the denotations of the Quranic words and expressions

2) the various contrary meanings referred to the Quranic verses

3) a new method penetrating into Sunnism for meaning the Quranic verses

4) the literal meanings of the Quranic verses opposing their outward meanings
The word "lucid" in paragraph 2 line 10 can be substituted by --—=-==-=naenev,

1) clear 2) mystic 3) proper 4) beautiful
The principles of doctrine, according to the passage, —----
1) are selected based on the practical injunctions of the Quranic issues

2) come out from the hidden truths and realties existing in the Quran

3) concern simply with the denotations of the Quranic words

4) use complicated methods for expounding the Holy Quran

You can infer from the passage that -———ceeeeeeee,

1) ta'wil of the Quran can be revealed to everyone

2) the subjects of the Holy Quran are interpreted by using a common language
3) esoteric interpretations usually contradict the Quranic conventional meanings
4) the Quran emanates from sources beyond the comprehension of common man

PASSAGE 2:

If we delve into the matter carefully we will discover that man seeks continuously
those laws which can bring happiness in the world: that people as individuals and in
groups recognize, in accordance with their God-given nature, the necessity for laws
which provide felicity for them without discrimination or exception, laws which
establish a general norm of perfection among mankind. Obviously, up to now, during
the different periods of human history. there have not come into being any such laws
which are devised by human reason. If the laws of existence had placed the burden of
creating such human laws upon the shoulders of human reason. then during the long
period of history such laws would have been established. In that case, each individual
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21-

22-

23-

24-

who possesses the power of reasoning would comprehend this human law in detail in
the same way that everyone realizes the necessity for such laws in society.

In other words, if it had been in the very nature of things that it be the duty of
human reason to create a perfect common law which must provide happiness for
human society, and that man should be guided to that perfect law through the process
of creation and the generation of the world itself, then such laws would have been
apprehended by each human being through his reason in the same way that man knows
what is of benefit or detriment to him throughout the determined course of daily life.
There is. however. as yet no sign of the presence of such laws. Laws which have come
about by themselves. or have been devised by a single ruler. or individuals, or nations,
and have become prevalent in different societies are considered by some as certain,
and by others as doubtful. Some are aware of these laws and others are ignorant of
them. Never has it come to pass that all people, who in their basic structure are the
same in that they are endowed by God with reason, should have a common awareness
of the details of the laws which can bring about happiness in the world of man.

This passage is mainly about ——-----eeeeeeee,

1) reason and law

2) law and happiness

3) understanding the concept of happiness

4) the necessity of rational laws for human beings

The phrase “delve into” in the first line of this passage means -------eeceeeee .
1) access wholly 2) define better

3) search deeply 4) consider rationally

The author of this passage wants to emphasize that ——-eeeeeeuee .

1) each individual needs laws based on perfect reasoning

2) laws which can bring happiness in the world are divine

3) human beings can provide felicity for themselves by seeking it continuously
4) up to now, there have not come into being any laws devised on human reason
The laws made by a ruler, as mentioned in the passage, ~-——-----eemev,

1) establish a general norm of perfection among mankind

2) bring happiness for the people throughout the world

3) may be considered as certain or as doubtful

4) can be apprehended by all humans

It's referred in the passage that ——-—-—mmenm,

1) details of laws can be cleared by reasoning

2) God has given humans the same basic structure

3) the laws of creation have been placed on the man's shoulders

4) humans are naturally aware of laws bringing happiness to them

PASSAGE 3:

Obviously. an intelligent man. who relates every event and phenomenon to a cause,
and who sometimes spends long periods in investigation and efforts to gain knowledge
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27-

28-

29-

30-

of a cause that is unknown to him, will never accept the possibility of a world existing
without a Being as its cause. Such a person, who by observing a few bricks placed
upon one another in an orderly manner considers them to be the effect of an agent
possessing knowledge and power and who denies the possibility of chance and
accident in the putting of the bricks together and therefore concludes that a plan and
purpose must have existed beforehand. will not regard the cosmic order as being the
result of an accident or the play of chance.

A deeper awareness of the order reigning in the world is enough to show that the
world, along with the order reigning over it. is the creation of an omnipotent Creator
who has brought it into being through His limitless knowledge and power and who
directs it toward an end. All the partial causes which bring about individual events in
the world ultimately end in Him. They are in every way under His dominance and are
guided by His wisdom. Everything that exists is in need of Him. while He has need of
nothing and does not depend on any causes or conditions.

Every reality in this world which we can possibly imagine is a limited reality, that
is, one whose actualization depends upon certain necessary causes and conditions. If
these do not exist, that reality cannot exist in the world. Every reality has a boundary
beyond which it cannot extend its existence. Only God is such that He has no limit or
boundary. for His reality is absolute and He exists in His infinity no matter how we try
to conceive of Him. His Being does not depend upon and is not in need of any causes
or conditions. It is clear that in the case of something limitless we cannot conceive of
multiplicity, for any supposedly second reality will be other than the first, as a result of
which each would be limited and bound and would set a boundary to the reality of the
other.

The common feature of all realities in this world is their -—----cceceeeee,

1) absoluteness 2) results 3) infinity 4) limits
The world seen from the point of view of its order -—-—-—eeemees,

1) deepens awareness of causes

2) proves the necessity of God

3) shows the efforts done by agents

4) emphasizes the harmony in the universe

The word "reigning" in paragraph 2 line 10 means -—---=seeuev ;
1) keeping 2) bounding 3) ruling 4) creating
Multiplicity, as inferred from the passage, -—--—---e-eeenv "

1) is the product of boundary

2) is the result of perfect wisdom

3) leads everything toward an end

4) removes the obstacles existed in the world

All of the following, according to the passage, are true EXCEPT -——eeeememeeee,
1) the intelligent persons try hard to discover the causes

2) there is a cause behind each event or phenomenon

3) the omnipotent Creator relies on no conditions

4) the order of cosmos is the play of fate
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